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Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_Physical Education_31.01.2024_09.30 AM TO 11:30 AM
Exam Date : 2024-01-31

Exam Time : 09:30:00 AM To 11:30:00 AM

Total Marks : 100

Note : The correct answer is indicated by the green color. ALl
¥cllol Glal 31 GlRL yUddIHi w1 8.

Question List:
Section: Section-A

State the types of evolutionary research --4&li%el AAltetoll UsIR ¥ LLcl
(1) Contemporary evaluation --- (1) AuUsidlet QIEL]

(2) Periodic evaluation —— () UIMLRLS YRlisel

(3) Final evaluation - (3) ¥i[dH Y&Uisel

(4) Political evaluation---(¥) mrﬂ[?ts li\c'ilifs*"l

[ 1 Mark |

s 1and2-9 W R

= 1,2, and 3-9,3, ¥ 3

n 1,2,3,and4-9,%, 3, Ao ¥
» 2and3 -2 W 3

Cricket run data is related to which kind of scale? - (83241l ¢l 3 sUL Usl2<il HL[Ed] £21(d B2 [
1 Mark |

» Nominal scale -sl[HULA 1281
= Ordinal scale-5Hd IS €120
= Interval scale-vid16 H12BL
= Ratio scale-2[RlldlR €181

Which of the following intermediate criteria is used to calculate the nominal scale? - sllHULA
t12031eil 21 1dZ]l HI2 Hraddlell $UL HIUESell GUALdL &L B. [ 1 Mark |

s Mean -H&S

» Median-Ht|2&|

= Mode-WgdsS

= None of the above. - GURLscH el 215 UBl «ife.

The annual income of the family; this data is related with which kind of scale? - §§0~l°‘l'l alfls
2145 vl HI[Ed]l Bal usiRell 82 [1 Mark |

= Nominal scale - sllHY[A hn?.Ql
= Ordinal scale-SHd IS 12
= Interval scale-¥id21d 12



= Ratio scale-ﬂ':’.ﬂ'd?. U ETE]

e What kind of data is collected through the questionnaire? -usiladl szl As[EAd s w11d4]
Hil&dl 3al usiell 8?2 [ 1 Mark |

= Time series data-HIHL[AS AQ(]

= Cross-sectional data-$1 [de11o01 Hil&d]
» Panel data-Usld HI[Sdl

= All of the above-GU2L5d dHIH

¢ What kind of source is a book written by an expert called 'Review of Gandhiji's Autobiography' to
examine the values described in Gandhiji's autobiography? -Dl'l*-l'].‘(b)d’l N RTELI R
ARIRE YAl dULA 5L HIZ 518 do% Stel itl)eil wiciseleil AL ollHe] QUG Yis
$ULUSIRa], Jld dLUA? [ 1 Mark |

= Primary reference-WLeL(H5 Ueeldld

= Early reference-WI2(015 4 eeilld

s Supplementary References-Yx 5 deolald
= Secondary reference-20181 &1\ d

e What is a pilot study? URNOLS WAL Qj 82 [ 1 Mark |

= An experimental study -UIA1[3LS €128l 5l A5 WYL,

= A study to test the tool of data collection. UL[&ddl 2AAsell Altetal UsIAAL HIell
BEALA.

= A small scale study. -ellotl UIA $cIH 4 1dd] w5 16U,

= A study that is conducted first time. -U&lH dl2 SAIHL 2 lcldl 15 WU

e In which research method is it necessary to check the effect of grooming on the sample characters?

—olYailell ULol U HId%d d2LISla deil U2 dulddle s1A 58 AN Ul UegldHi ¥ D2 [1
Mark |

= Experimental method RIS uagf?t

s Cause-comparative method -518l-d@ellcHS lltf,fa
Developmental method- [AslALHS U.i(,[a
Historical method- (AL U.ig[a

e The problem solver and the researcher are the same-34H¥Il ¥H{s{HdslR Vol 2l s vid W5 ¥
SlY V- [ 1 Mark |

= In Action research -($UlcH$ A2ltsiUi
= In practical research-Id&lRS A siHi
» In basic research-HU1¢d v

= [n basic research—%la:&lQl YENE

e The eating habits of people in urban areas are different from those in rural areas' - which research
method could have been used to achieve this result? -A1R $dl A& [Ad1Re11 Glsleil VRS
2l %El 8- 58 dMltel Uegldetl Gualolell w11l URBLH H®R] &212 [ 1 Mark |

Content analysis method- E{NU.CR(L CRANERIT7AR]
Developmental method ([dslAlHS U.ﬁf,[a
Historical method-2A (AL ueg[a

» Survey method-%la[&lQl lli.g[;l

e What is the type of information that classified below? Classified information: (1) Pass (2) Fail
Ailsd scLMi 1] HilEdd] Bl usizedl 82 adilsd Hil&dl: A) UL () ollUIA [ 1 Mark |

. Binary-nominal-(*{lgda-ﬂ-lﬁlt"l(‘l
= Binary-ordinal 1S u\ St

= Ratio measurement -2[Qlltl2 HUel
Interval measurement-{d2 6 H[Usl



The data collected from published reports is known as: “usil2d vealeluiel AsM[Hd s
Uiledl  d3 vlaviid 8: [ 1 Mark |

Organized data 216dd Hifedl
Independent information-¥clci= H1 (&dl
Secondary data--’ﬁ@,l Hiledl

= Primary data-WI2 (1S HI[&d]

If the Critical region is evenly distributed then the test is referred as?-%\ U{%Cﬂ{sﬁ !-l%.%l*’i
AUl (Al 2dd Sl dl, uleist A3 WL ). [ 1 Mark |

m 2-tailed
s 1- tailed
= 3-tailed
= (- tailed

Alternative Hypothesis is also called as? -As(Cus uRseyslla a3 ug wlaviy 8. [ 1 Mark
|

Composite hypothesis-435d yRseysll

= Research Hypothesis-%i?ﬂﬂd uRseysil
Simple Hypothesis-4201 URS&sl|

Null Hypothesis-(1215123{14 U[R s

The purpose of hypothesis testing is to: URsAs1L Ul éq, v 8: [ 1 Mark |

s Test how far the mean of a sample is from zero (el ol Heus %Lcileﬂ Sedl & 8d
USIUAL HIR

= Determine whether a statistical result is signiﬁcant-U{i.‘sSL‘;lll URRIH «AluulA 8
Al A [AUiRd 28

» Determine the appropriate value of the significance level dlelsdlel 58 1o Y)oY Y& o551
SALHIR

= Derive the standard error of the data -HL(&d|<{l UHIBLCd ?Lél dlRadl e

The difference between a statistic and the parameter is called: -ViSSL ¥l UIUG A ell d{slckla
s$&dIHi wid 8: [ 1 Mark |

Non-random - &89

s Sampling error -(sie2let o
Probability - lcleil

Random -4 &8

Which of the following is not a probability sampling? -s{lQei1Hie]l 53 Aetldeil 21ULRA [de2le
oieil? [ 1 Mark |

= Simple random sampling-+4U1 Y&9 (e.2let

= Stratified sampling-{d?]d [c1¢.2le1

= Quota sampling-[eldd (&1 (scil2l) [ele2lel
= Cluster sampling—ail-l’l*l'l (cluster) (c1£.2[et

Stratified sample is used when the population is: 2dld [e€2lel U.t(,[ad'l GuAUI2L IR SCIU
U YwURUUMR _ SlU . [1Mark]

= Homogeneous -HH sl
= Heterogeneous-H 21
= Too small -Wo{ silefl
» Very large-W®* 12l

The sample section in the research proposal needs to provide information about
2Nuet euRdU [siedet’ [Aeidtui (@9) L&) Welet 52AM A B, [ 1 Mark
|

= The software used -% 41§2d2 dURY B



The names of participants - UEH (1) ot 1H)
The sampling population - [c1e.2ie1
The type of analysis used - (ANl USIR

e The two important components of research responsibility are: sincerity in work and avoiding

. - A2lYel aluielell 6 Hecdywl g2s) 8: sidHi UIHLBISAL w1
ol WAL, [ 1 Mark |

Plagiarism - AlleuUl?
Confidentiality- I Hcll

Research techniques - S CE R EGIER
None of these - A1l 5 Ul i

e Abbreviation 'ibid' used for footnotes and Bibliography for - é\ad]?:%{ e JJQﬁﬁll-ll 'ibid' <ll
GUUL_ MI2 sAIMi ¥i1d B. [ 1 Mark |

Same reference - HHlol H‘é.@'[

Same person - HHlel U (&d
That is

And others - 3ol W]

e In which sampling method population is divided into different strata and sample is taken from
different strata ? - 58 [eie.20ol UegldHi AU R I WA Ui dSUAIH A1 ) Wal
(cle.2iet 31691 3162| 2cduiefl Acini w1d 82 [ 1 Mark |

Quota sampling - sdlel el

Stratified sampling- 2dld [ele2lel
Snowball sampling - wilodld (el
Purposive sampling - é(jl-j\Q[ [e2let

« Full form of MLA style: - MLA 6lef Y&l 2c13eU: [ 1 Mark |

Modern Language Awareness
Modern Language Academy
Modern Language Alliance
Modern Language Association

¢ Population value is called- qule HR| $&qIHiuId 8 [ 1 Mark |

Statistic -i5SI51Y
Parameter-Y 114
Variable-4€R1(21
Information-HL(&d]

« Why do you need to review the existing literature? - dHI2 Sl€oll All&le(l 21 &1l 201 UL
$qlofl % 82 [ 1 Mark |

To make sure you have a long list of references - Wid?l sl HIZ 3 duI] uld deeilsil
qiofl 3R &

Because without it, you could never reach the required word-count-51l 5 qell (Astl, ail
KUY AU 210£-21RLdF] U UST] 2521l 1]

To find out what is already known about your area of interest - clH 2l 2L AN

uédeil 9 nild 8 d Aluar v

To help in your general studying - dH 121 U 1H1e AWEALY A HeL Y[ 8.

o AtypeI (1) error occurs when we: - U&lH UslReil ’{LZ'I AUR ALY B RUIR: [ 1 Mark ]

Reject a false Null Hypothesis-bnél (c1150U URsUs11A aislRAIM 2114 &
Reject a true Null Hypothesis - U101 (12151014 U[RsUstla eis1RA 1M 2419 &

Do not reject a false Null Hypothesis - W12 (1215004 URs&Ustla dslRd M| ldd]
sief]

Do not reject a true Null Hypothesis-413] (¢12158{14 URSCUel o sis1Ra 1M 241dd] =12l



Level of significance lies between: [ 1 Mark |

-1 and +1
0Oandn
0and 1

u
[ ]
[ ]
= -00 tOo +00

Reliability and transparency are fundamental: - (czldofludl 21a UlRe[2Udl HANGd 8: [ 1 Mark
]

Issues in business. - €151 AHRU U]

Ethical principles in research. - 2i2lltslsll alds ﬁ-li.g.ld-h-l'l.
= Requirements in research. - AN estof] eI A LAIMI.
Methodologies in research.-42Lltel Usg REZNRNT

Good research proposals will always: - -2l A20lYet e_UIRALMI 2Ll :EQ: [ 1 Mark |

= Focus on addressing the research objectives. - {2lltlsl éq,bﬂ U el Jlogd 5q
= Provide respondent names and adﬁl_resses. - GdReldlell otlH) ol Al H i)
» Focus on the Harvard style. - €4S el U el %[ng 5.

= Consider all possible research that had previously been done on the topic - 41 CLUIRVE]
UG AL AL dHIH A [Cld Rllteta el Al

What is a sample called if it represents one or few characteristics of the population more than the
others? - %1 d vl Sl dy dcloil V15 weldl ellS] dlaiBLsd il 9% 52 dl d dysila 2f 5&
82 [ 1 Mark |

s Good sample -HIR| elHsll

» Bad sample -W2lH eiHeil

= Biased sample -ua-ll-lldfl ol}qil

= Ineffective sample -[MeAMHS1RS ol¥sil

The principle of informed consent is:-2Ls13l Nﬂ‘-lr&ﬂ.l ﬁ-ltqld 8: [ 1 Mark |

Of little use in business research.-Ad} L[S Al\e=1Hi 215l GUUL.

A key ethical concern.-UlcleY al[ds vuld

Essential to the relationship between the researcher and the research project. - dAYelsIR
ulel QUlelet U152 Aol Aoit HI2 u1dUS B.

A key data gathering method. - H&cdsil HL(&dl X157 s lef] Ueg[dl.

Which symbol represents the mean of population? - U [Roli Heusa sUL Rles 93 satiddii
u1d 8. [ 1 Mark |

NE NZ

If Mean > Median > Mode then which type of skewness is it. - HtUS > Ht|e| >0 SE S ely dlu
$UL USIReAL [ANUAL 8. [ 1 Mark |

= Positive skewness - tel [N U

» Negative skewness - B8l (ANl

= Zero skewness - 2/ (ANl

= None of the above - GULSdH il A5 UL «if&

Addition, theorem states that if two events A and B are mutually exclusive, the probability of
occurrence of either A or B is given by: “ARdlledl WY SR X %) 0l elesiiuil A W B
URAUR [eldlRs Sl dl, A wiedl B Keidlefl eidell : [ 1 Mark |

= P(A)+P(B)

= P(A) x (B)

= P(A) x (B) - P(AB)

= None of these - GUL 5y S5d W5 UL «ifs



if y=0.15 x - 1000 is a linear equation. Find y when x =1200., -y =0.15x - 1000 N %ii’.\ﬂl
AHISL S1Y AR x = 1200 S1A dl y A4 [ 1 Mark |

900
800
700
600

What is a MATLAB script file? -H2Qu R$\2 §196 2| 872 [ 1 Mark |

= A text file that stores MATLAB commands-25%2 §LO¢ B H2do| SHIoSY AAS 28

= An image file that displays plots-81° §16@ % 123 £21ld 8

= A data file that is organized in layers-52| §18G % d6{SSIHIdA16clY

= A program file that is executed by other software-WlAIH slod % WY %nsaaz Glel
Y4lddIHi »1d 8

What does Microsoft Excel do? -Microsoft Excel Qj 528? [ 1 Mark |

= Create graphics -AL[55¥4 Wellad]

= Store and analyze data -S21 2212 5d) W [ArdNLL 54
= Build websites -AHA 182 ¢{eildd]]

= Send emails - R84 Y1544

Percentage (%) sign is used in an URL to represent : - 2sldizl (%) [RiEell GUAlL URL Hi %Y
SALHIR ALY B: [ 1 Mark |

= Space -¥d5(2l
= Data-52l

s Time-dHY

= Person-c (5

What is an array in MATLAB? - Nedoui v Aed 20? [1 Mark |

= A series of continuous data points-dd sel U]%)f&\%lt’ﬂ 2l

= A collection of data arranged in a grid-JﬂSHi dlledd Selefl Aus
= A data set without a structure -6it1128] d9IR¢1] 321 A2

= Information stored in a text file -25¥2 sLeEH] A [ed Hiledl

What steps should be followed for data storage and management? - S2L A ol cqrelIye Ul
SUL UG Wef AL F1SV? [ 1 Mark |

» Back up data 32l Wsuy chj.,

» Keep data in its original format 3219 dsil Qﬂ'.aul AW
» Document data-521 £3d la‘@)SQQl

= All of the this-GURell 014l

A person’s age is three times more than the age of B person. The total of their ages is 64 years. Find
the age of person A and B. - A U (scel GUHR B cu(Sdeil GUR sdi ARl 2 (]l Ay 8. Wil
GHRell AL 64 AN &Y B, cdl A ¥l B cU[Scduileil GHR 21H). [ 1 Mark |

= 48,16
= 16, 64
= 04,16
w 22,42

Q is shorter than P but taller than R. R is shorten than P but taller than A. W is shorter than A. If
they stand in ascending order of their height, the order in which they are standing would be: - Q V]
P 5cli «{l2]l UGL R 5cli Q1AL B. R 3] P $2dli «il4) UBL A 52dli G1UL B. W 3] A sl <l B. ¥
duil Uldlell QuLEell ASdi sHUI BeLLE dl dMeil Geil 2&d1sil $M &2l: [ 1 Mark |

= WARPQ
= ARWQP
= WARQP



= WRQRP

e In a garden, there are peacocks and four-footed animals. All these 98 feet and 35 heads. How many
peacocks are there? - 3§ 6{AIHI 32dis HI2 ¥al YIR Wdldlnl UL 8. duleil wHl Hoila
98 UL el 35 Hlell ALY 8. dl i 32di H1R &212 [ 1 Mark |

= 19
= 21
= 23
= 25

e In a row of girls, Bindu is twelfth from either end of the row. How many girls are there in the row?-

91502 lell SANUI [Gigoell sici2 0 BSell viRU] 1d 8. dl sANUi 32l 915l A2 [ 1
Mark |

= 13
= 23
= 24
= 25

¢ From Vadodara station, if we buy two tickets to station P and three tickets to station Q, the total
cost is Rs.77, but if we buy 3 tickets to station P and 5 tickets to station Q, the total cost is Rs.124.

The fare from Vadodara to P is: - Yl 22lsiell 222101 Poil A [2[s2 el 2211 Q <il AW [2[52
wiledl §4 WA 30,77 ALY B, U, %] ¥2Ael P oil AL (252 v1al 22161 Q <l 5 [2[52 Wl ealni
1A dl $6 WA .124 1Y B. dl Y2cieil 222101 P of @iLS ¥l [ 1 Mark |

= 13
= 14
= 18
= 20

e He was sent to the prison for his .[ 1 Mark |

= Sin

= Vice

= Crime

= Guilt

e The American could not decide which ring he wanted to buy. (Replace underlined verb with
phrasal verb from the bracket.) [ 1 Mark |

= Make with
= Make up
= Make out
= Make in

e She is a very regular student. She to the college every day. [ 1 Mark |

= Comes

= [s coming
= Was coming
= Coming

o Select the correct sentence from below: [ 1 Mark |

If you had worked hard, you will have succeed in life
If you work hard, you would have succeeded in life.
If you had worked hard, you will succeed in life.

If you work hard, you will succeed in life.

. it is raining, lets drop the plan of going to the picnic. [ 1 Mark |
s Therefore
= As

= So

= And

Section: Section-B



Modern Olympic Games in 1896 were organized at: -8. 1896 Ui Ull*;l,[;'l.‘s wldus sui
AlwdiHi widl &dl. [ 1 Mark |

Tokyo-a (sl
Athens-Aelo®y
London-€Sel

Los Angles-@l¥ Asey

The first ancient Olympics was held in the year “ver Wil vlfcfus anui
Al i 21d] edl. [ 1 Mark |

= 884 B.C.-8. 4 yd 884
= 776 B.C.-8 . 4 yd 776
= 626 B.C. -6 .4 4d 626
= 1042 B.C.-8. 4 yd 1042

Philosophy deals with: -clcd $llel oiy yud 8: [ 1 Mark |

= Functions of Mind -H2l%e1l S}

= Human Behaviour -Hlsld d &R

= Love of Wisdom -({Lﬁg‘-l'dl TERVEY]
= Social Traditions -¥IHL(%5 UalLlasl

Athlete’s Foot is caused by: -QQQQH §e eldlof S128L: [ 1 Mark |

Virus -9418d

Bacteria -0152 (3L

Fungus -$3R{

None of these-51€ URL o1l

The term metabolism is concerned by : AelullanH isnidd 8 [ 1 Mark |

= Respiratory system -%l¥eld=l

= Circulatory system ->[d1 (#4281
= Muscular system -¥e11}ci=l

= Digestive system -Ul¥olcil

Scientific name of the calf muscle is: -51§7ll Ml{-l}‘-n"i aSIl[:‘lfs oAlH 8 [ 1 Mark |

= Sartorius -4122LRAUY

= Hamstrings —él-lﬁ;éﬁl

» Gastrocnemius -512@-13513-[2{
= Quadriceps -SQLQQW

In the world history of physical education which ancient country is Known as the cradle of
European civilization? -g[cldlsl AR RS (2r&12leil ¥ldsiuMi suL LA YRAMUA Ag(ds]
UIRE AR 211d 8? [ 1 Mark |

Egypt -5)H

Greece -A414

Mesopotamia AR ML
Iraq -O2L5

The “Trial and Error” theory of learning was propounded by: -2ld¢ Vel AR Alwalefl eyl
uelL[Ud Sl : [ 1 Mark |

= Newton -o2¢l

= Pavlov -Ulddld

= Thorn dike -8ll2¢1 SIS
= Homer -SlHR

Top Spin Rotates the object : 21U Alet CR{IH }s?.a. 8: [ 1 Mark |



Back to Front -~UL&yN el |21
Left to Right -Sloflef] asHel w19
Right to Left -] Slodl o1
Front to Back -¥1191018f] Ul&9¢

During heavy exercise, the supply of blood increases towards: M3 LA qHY GlEledL udls
$lofl A A & 2 [ 1 Mark |

» Brain -HI%

= Skeletal muscles -2<lly ueil
= Skin -YHS]

= Kidneys (55l

Reason for lower performance in sports competition is due to: Uy U wpAW YRRuA 01 51431
SlY 82 [ 1 Mark |

= Anxiety -Ridl

= Motivation -U8lL

» Aggression -GAdl

= None of these -5 UL o1&

Sargent jump measures: Yl U HIU B [ 1 Mark |

= Explosive leg strength RTRTE| ER'&]ZS L[5
» Agility -4U0dl

= Explosive arm strength -sleed] [asles Qulsd
= Flexibility -etH[1ddl

Walking barefoot on sand or rough ground helps to correct: Rl 3 weUSL Aelel U GaLst Wl
ylddlef]l YHURBIMI Hes HA O: [ 1 Mark |

= Flat foot -4ul2 U]
= Club fleet -S540 56l

= Curved feet -diS1 U2

= Outward pointing feet -U%| W&Re{] W19 US ddl Ul

Which of the following terms is not related to the concept of “Test”? -oilAdefiuiell 56 olloid s
Alel Asnidd «1eil? [ 1 Mark |

= Creativity 2B

= Reliability - (A%l 1Al
= Validity -UH1Q1e{ddlL

= Objectivity -&daefldl

The branch of mechanics, which deals with the force that produces or changes the state of motion,

is: -AL[AS ol 201Ul B i 18 Aoy 1A O A dLldeil Relldal Geust 52 ® weldl xied B: [ 1
Mark |

Kinetics -2L(d2L121

Statistics -15512113
Biomechanics —‘%q AAQULA
Kinematics - l[d L(Qld 2118l

Who amongst the following are found to be most agile? B ETRIE| ay Jyq é.lclldi.i.bllll 8 : [1
Mark |

High Jumper Athletes -Gl & MR
Gymnasts -4 14 21121
Swimmers —d?.au.lbﬂ

Divers -SlESCR{

Psychological preparation in sports means: MU Hellldsiles AUl vle2q: [ 1 Mark |



Study functions of human body -Hl1d ARRe1L SR ey

Study structure of human body -Hleld 2112 Ustlof] WAL

Study movement of human body -Hle1c 30l SdotUG o] of] WYY
Study behaviour of sportsman WdLS] el cUdSIR oll ALY

The main postural deformity among adolescent girl is: (52112 waRellsfl V521U Hu|
Ul2yRd [As(d 8 : [ 1 Mark |

Kyphosis -S4l (44

Lordosis -GLSI{14

Scoliosis -¥51(Gl (A1y

Round shoulder -2LlU1L512 V@il

AAPHERD test is used to measure: - AAPHERD 22¢1l GUUL2L HIUcIHi 2114 8 : [ 1 Mark |

Psychological Fitness BT HHdl
Muscular Fitness -Mlﬂﬁls &Hdl
Cardiac Fitness -@&e{l &Hdll
General Fitness - lH1sY & Hcll

Leadership effectiveness is based on: -élcht’{l VARSI ScL GU AULHUR AW 8 ; [ 1 Mark
|

» Setting goals and getting the job done -4&Y (Rl wa q&ully

= Situational characteristics of leader and group ol ¥l °§21.°‘l'1 URRelld weu
CTEIEERTEN

» Development and maintenance of good relationship interpersonal -4121 ¥id2 AU (sds
Aoidell [asiy wa 2nqeil

» Influencing group members - A6 U WA ULSd]

Which aspect of personality enables individu‘gl to decide between rights and wrong? - (Selcdoll
SULUIAIRAL U [Scial WL A vil2lell [ iy AdiMi HeeeY olal 872 [ 1 Mark |

Ego -¥{&H

Super ego-U{fa wEH

Id -85

None of these-315 Ul o{&l

Which of the following is a motor educability test? —oilAefiniell HleR Q"J{l}(‘{ CRIETEELRE:
[ 1 Mark |

= J.C.R test-J.C.R. 5312l

= LO.W.A test-.O.W.A. 54121
= Fleishman test-{saé%{ﬂﬂ 54121
= None of these-¥§ UL o1&

The time table, so constructed, must aim at:-{Hd Usiseil 3] 2d Yell sl w1S2 Y znﬁj, Y
&lg F1SV : [ 1 Mark |

= Speedy achievement of obj ectives-é(ibn"ﬂ »syl uild

= Ingenious use of infrastructure and facilities-4c&l[Usil A YIAAS) «il ELR1AIZ] yds
Guala

s Optimal utilization of time available-W1\ UM Hallas Guylol

= Continuity in the activities term to term-43 o] U~ AUl uq [ Aldt

For the purpose of remaining healthy, what is most important?-rig,?.?:d 28d| HI2 el qui?
VLU 2 B: [ 1 Mark |

= Worrying about health-41219 [ANYS Ridl

= Knowing about health-#1219Y [ANY s A L513]

= Thinking about health-2412194 [ANUS (Y12 5c)

= Following principles of health-¥1219Yll ﬁ-ltgl('nt’l R Ly R R AN}



The largest muscle in the human body is:-Hleld 241 Aleil 3-n§ 2olly &: [ 1 Mark |

Deltoid-5€218S

Tliopsoas -HEANRANHY
Pectoralis major—a.fsa?.c‘ﬂ%{ nLie)
Sartorius-412{RUA

In the matter of health, one should always:-ml?]:’llf"n olloidHi &35 [ 1 Mark |

= Follow traditions and customs-UIRURS Idl wal Rl WUl

= Act upon parental advice-dS|@\e{l Ad S WU

= Be guided by the light of science-[ASllal o1l [1UH)A 2*{012{?.{4',

= Believe in prevention, not cur-&12LL ¥ 119Us{l Yd 5101%) A M Hleld, oSl 3 A1
TN}

Sports Management is:-Ul6l Woitlel $&cld 8: [ 1 Mark |

An Art -5011

A Science-[ASllel

Both of above-¥lHiosil ial
None of these -51¢ URL o1&l

Which of the following is least trainable?-sildsilHieil 58 wiloideil Alel A1e9] ciclld Audini
1A & 2 [ 1 Mark |

= Flexibility-dldug)
= Endurance-&-12{lddl
. Speed-Dl[—(:l

. Strength—%l[?sd

The major function of ‘insulin’ is to:-i)ﬂ'%ﬂ[aldﬂ Hu| sid: [ 1 Mark |

Transport foodstuff-Wll215ell declle] d&st

Keep blood thin-4l&lal Uldy] _Awq)

Regulate blood sugar-c‘né'll-li &6 uwis °1 EEIRIL]

Convert glucose into glycogen-xj‘fsla‘wi 24145\ (MM e idR S?.{J;

Main purpose of fartlek training is:-{séafs dldlu uec;f&oﬂ Huw| G{Ql : [ 1 Mark |

= Flexibility-oiHsi ¥l

= Speed-HSU

s Strength-dlSld

» Endurance-3&ai2{lddl

image [ 1 Mark |

The formula for computing Z-score is:
AlIX—M
5.D.
B 1 M—X
3D
e | X+ M
5.D.
D | None of the above

QW



= D

Of the given, which protein filament is 50% to 55% in the muscle?-vilUe Hiell sUL Ml?;l,bl.ll-li
Ul2let (sa1H o2 50% &l 55% 82 [ 1 Mark |

= Actin-¥ (5251

= Myosin-H1d12{le1

. Tropomyosin-@u-ll-ll?ﬂ%ﬂ
. Actomyosin—afsal-llina‘"l

Factor which is beyond the control of researcher is:-220usell [AAARI{l KSR B : [ 1 Mark |

= Delimitations-AHU[& 2]

] Limitations-‘-lll{&lb{.l

. Assumptions—fsc'ut’ﬂs

= Critical factors-215lcH5 tlloidl

Questionnaire method is mainly used in:-U$LLAE] Ueg[dell Yuucd GUULIL SALU 211d B: [ 1
Mark |

Historical research-3\[d& LS 2Mtel

Survey type research-Ha&{Ql 3—[5[?.{1; STENDE
= Experimental research-WIIL LS QUltel
Philosophical research-dcd$ils{[Y A QULdel

Tuckman’s stages of ground development are:-M&lololl [ASIAoll 250etoll AOISSIN] : [ 1 Mark |

» Forming, performing, norming, storming-2deil, Ll&%[ﬂ, l-anl, Rl
s Forming, storming, norming, performing-¥eil, R-lﬁ.-lJl, d-lﬁ-Pl, HSTmJl
» Forming, norming, storming, performing-2eil, s1(21, 221 (HoL, ye2lst
» Forming, performing, storming, norming-2eil, Ll&%fd, 2l ﬁ-Dl, o\ (Ho|

Turning questions in to a researchable idea is the:-AHRUL¥ 1 AAlULHS [&um—tihqqmi 14
&: [ 1 Mark |

= First stage of the research process-%'lQn.*-lcl u[glll{i, uyy ‘-Pl[ﬂ{i,
= Second stage of the research process—%l%ntld Ll[glllt’i 0ﬂ°§ U.Jl[él?;j,

» Third stage of the research process-%i%ﬂt{d Llf%lll"i 7ﬂ°§ I-Pl@.?i

» Fourth stage of the research process—%{%nt{d Ll@zll*’i U]?:L U.-’l@l%i

Which of the following is a secondary source?-oi1 Aol il QL #ld D : [ 1 Mark |

= Pictorial records-(=]

» Mechanical records-4i[3%
= Personal records-c(5d9ld
s Text-books-UloUYdS

According to Aristotle, play in its basic nature is: A RRled H¥U slleS dsil HANGd US (dui
8. [ 1 Mark |

Cathartic-?s%llréés
Reflective-Uld(0i(cid

. Spontaneous-%cl?i@j\

= Unconstrained-¥4 (=1 (3d

‘Atlas of Mz‘gn’ which describes the body types was written by- ued Iy b{.l{s Nol’ B ARRell
USIRle ARiel 52 O d Gl AWM M1} &d, [ 1 Mark |

= Health-241219Y
= Carter-512

» Kretchmer-$34HR
= Sheldon-21€5el



Which is the first step in a sports programme?- 2Hcl sifsHui Aleil U.éci HJI[E-RJ, 821 82 [1
Mark |

Directing-S 1135221
Stafﬁng-?:al[-SDl
Planning-u'llr;'Pl
Budge'[ing—0~l°-b> EXII

The term 'measurement’ refers to:- “H[Uel” 216¢ £211Q E)?s, [ 1 Mark |

= Number/reading obtained on applying a test- {Hd 536 54121 URell Andd wis
= Evolution-4&I[ Sl

= Variable-U€R1(21

= Average value- AR H&L

Organisation Means “Plannigg of Work and Administration” means- ‘¥{13[el1® 2101’ oil 4] CL;S{I,
VAol vl dElde oil el & : [ 1 Mark |

Controlling- [e1i[Ad

Processing Information- Hifsdl wlsul
Decision Making- [13ly Aql

Working the Plan- Aloetl U 514 531 28lL B

Sit and reach test, measures:- «dle ¥a AY” sHZlHIU B - [ 1 Mark |

= Abdominal strength- U2sil 2et1yd)o{] 21 (&
= Shoulder flexibility-W@1l ofl siHeflAdl

= Back flexibility- Ul&eil eiMoilddl

= Arms strength-&les{l dl5ld

CAPA stands for:- CAPA 2llsil HI2 8?2 [ 1 Mark |

= Computer assisted psychological assessment- .ﬂmiaz wIRReS amﬂc{l@sq
AAYN2

» Comprehensive assessment of physical activity- S1Eedlg X QAuN2 s (565361
A (s2(qdl

= Controlled assistance to psychological assessment- SaC'S Wl[Re2 [ ams\@t@sq
A AYH2

= Compulsory assessment of physical activity-5*4E43] Ay Q4N 21§ (s[se 1 (s (]

In The school setting the major channel of publicity for the Physical Education Programmes is:-

11 Hi ARIRs (re1al s1dsH HIR YA IRe(l Yy Aold D: [ 1 Mark |

Teachers- [ﬁ".l&lfﬂ
Students-(a&11e{[3])
Advertisements-¥1&2Lcl
Intramurals-§2 111

Bhartiyam was conducted to promote: -2} Wlcll&el Sl HI2 IRl of W1AL%el s 21
&d ? [ 1 Mark |

Indigenous game-%q%%n Ml

Dands and bethaks-£5 ol 6165

Free hand exercises-{ﬂ &5 WSAULHD

Mass rhythmic activities-Hl‘i@.‘s dlgid uq[ﬁ

Which of the following is not a schen}_e/programme by S.A.I for sporting talents?-Hcl uldeilal
U2 SAT Gl eilAefl 586 Uloell/ s1AsH «1eil. [ 1 Mark |

= SGFI
= NSTC
= SAG

= SPDA



¢ Systematic sampling may be used instead of simple random sampling because:-34U1 oY
Aol o vieq cudReld syl o1l GUALL 52 ASIA O : [ 1 Mark |

= Population is heterogeneous-Q%(ﬂ (Qoncila 8

s Expected differences are small-{U(&d dsldd silell &
= Population list is in random order-cldil ALE] J5H sHUL B
= Sample size is small -s1Hsll o} 5¢& silo} &

¢ Micro-cycle involves training of:-HI9 5] A1USHoA] dlElH A1 [ 1 Mark |

» 6-8 weeks-89 &l 416 ¥46dL(SUL

= One month-w5 H[Se1]

n 8-10 weeks-24168] £ ¥ 6dL(SUL
= One week-$ U{écufg?i

¢ Scope of sports management depend on:-Hcl ¥3Ncl (sul cyqeliysiMi [l aulRdl HI2 sUL
URuin g1 Hecdell 872 [ 1 Mark |

» Finance-s1lQlLS]Y

= Facilities-34(del[2{)

= Personnel-L[Scldld cldell
= All of these- 01tll URui0l



